

2026 INTERNATIONAL SCHEDULE OF FEES

Version Date: 25 November 2025

This fee schedule sets out the tuition and non-tuition fees payable by international students for subjects undertaken during 2026. International students that withdraw from a subject ahead of the relevant start date will not be charged a tuition fee for that subject.

Ikon offers international students Pay-by-Trimester and Pay-by-Month (continuing students only) payment options. Continuing students can select their preferred payment option ahead of the start of each trimester. The change of payment option request form must be submitted no later than 3 weeks prior to the start of the teaching period of the relevant trimester.

Unless otherwise stated, all subjects are delivered in accordance with the trimester dates shown below. Some subjects will only be offered if there is sufficient student demand at the respective campus location.

All Courses Except Master of Teaching (Early Childhood)

	Start Date	Census Date	End Date
Trimester 1	2 February 2026	18 February 2026	24 April 2026
Trimester 2	25 May 2026	10 June 2026	14 August 2026
Trimester 3	14 September 2026	30 September 2026	4 December 2026

Master of Teaching (Early Childhood)

	Start Date	Census Date	End Date
Trimester 1	2 February 2026	19 February 2026	1 May 2026
Trimester 2	25 May 2026	11 June 2026	21 August 2026
Trimester 3	14 September 2026	1 October 2026	11 December 2026

Future Study Periods

Ikon updates its fee schedule in September of each year, for the following academic year. An update to this schedule will then be published for the following academic year. Fee increases are typically implemented each year to cover increased delivery cost. Course costs are expressed by Ikon as indicative only and subject to change, but once published subject tuition and non-tuition fees remain in place for a 12-month period.

If a student enrolls into subjects that are due to be delivered beyond the period of the current fee schedule (e.g. beyond 2026), such students should be aware that the tuition fees for that period will have its own schedule, that relates to that time period.

CONTENTS

Diploma of Arts Therapy	4
Bachelor of Arts Therapy	4
Diploma of Counselling and Psychotherapy	7
Bachelor of Counselling and Psychotherapy	7
Graduate Certificate in Counselling.....	10
Graduate Diploma of Counselling and Psychotherapy	10
Master of Counselling and Psychotherapy	11
Diploma of Community Services	12
Bachelor of Community Services	12
Bachelor of Social Work.....	14
Master of Social Work (Qualifying)	16
Diploma of Early Childhood Education.....	17
Bachelor of Early Childhood Education.....	18
Graduate Certificate in Education (Early Childhood)	20
Graduate Diploma of Education (Early Childhood)	20
Master of Education (Early Childhood)	21
Master of Teaching (Early Childhood).....	22
Non-Tuition Fees.....	23

Diploma of Arts Therapy

Course Code	DAT01/DAT02/DAT03	Campus Locations	Melbourne, Sydney, Online	Credit Points	48
CRICOS Code	097944E	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SOC101	Integrative Psychotherapy in Theory	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART102	Integrative Arts Therapy in Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART103	Models of Arts Therapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART104	Qualities of Art Making and Arts Media	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART105	Mental Health and Arts Therapy in Clinical Settings	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
CSW101	Valuing Diversity	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART107	Ethics and Arts Therapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART108	Arts Therapy in Group Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Bachelor of Arts Therapy

Course Code	CRS1400328/BAT01/BAT02/BAT03	Campus Locations	Melbourne, Sydney, Online	Credit Points	144
CRICOS Code	094684M	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
Core					
SOC101	Integrative Psychotherapy in Theory	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART102	Integrative Arts Therapy in Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART103	Models of Arts Therapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART104	Qualities of Art Making and Arts Media	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART105	Mental Health and Arts Therapy in Clinical Settings	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
CSW101	Valuing Diversity	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART107	Ethics and Arts Therapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
ART108	Arts Therapy in Group Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOC201	Life Span Development	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART202	Expressive Modalities in Arts Therapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART203	Intermodal Philosophy and Theory	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART204	Dance, Movement and Embodied Arts	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART205	Creativity and Healing	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART207	Drama Therapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART208	Assessment and Treatment Planning	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART301	Responding to Trauma with the Arts	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOC312	Culturally Responsive Therapeutic Practice with Aboriginal and Torres Strait Islander Peoples	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART304	Arts Therapy with Children	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART305	Integrating the Arts and Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ART306	Supervised Arts Therapy Practice A	0.125	6	\$3,944	\$1,403 x 3 (\$4,209)
ART307	Supervised Arts Therapy Practice B	0.250	12	\$7,288	\$2,593 x 3 (\$7,779)
Elective					
SOCE302	Dreamwork in Psychotherapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
ARTE206	Arts Therapy for Grief and Loss	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Retreat/Intensive Subjects

These subjects comprise of some pre-work classes, a 3–5 day intensive of full day classes and a wrap-up class. The retreat or intensive format allows for a concentrated and total immersion in the learning material. Students will have the opportunity to think deeply and reflect widely on the concepts communicated, allowing for rich discoveries. Retreats are delivered offsite in locations designed to complement the learning objectives. Intensives are delivered on-campus (Melbourne or Sydney). Both are delivered during the traditional trimester break.

Please note that there are additional costs associated with these subjects for accommodation, food, and/or travel. If these are arranged by Ikon, they will be charged back to you. For the retreats, these costs are estimated at \$1,200 per student. Travel to the venues is not arranged by Ikon.

	Start Date	Census Date	End Date
Trimester 1	9 February 2026	2 March 2026	15 May 2026
Trimester 2	1 June 2026	22 June 2026	4 September 2026

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SOCE202	Sandplay and Symbol Work with Children and Adults (Intensive)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOCE203	Ecopsychotherapy (Retreat)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOCE303	Eastern Practice and Western Psychology (Retreat)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Diploma of Counselling and Psychotherapy

Course Code	DCP01/DCP02/DCP03	Campus Locations	Adelaide, Melbourne, Sydney, Online	Credit Points	48
CRICOS Code	097946C	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SOC101	Integrative Psychotherapy in Theory	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU102	Integrative Psychotherapy in Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU103	Models of Contemporary Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU104	Ethics in Counselling and Psychotherapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU105	Mental Health and Crisis Management	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
CSW101	Valuing Diversity	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU107	Case Conceptualisation	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU108	Supervised Practice A	0.125	6	\$3,944	\$1,403 x 3 (\$4,209)

Bachelor of Counselling and Psychotherapy

Course Code	CRS1400329/BCP01/BCP02/BCP03	Campus Locations	Adelaide, Melbourne, Sydney, Online	Credit Points	144
CRICOS Code	094685K	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
Core					
SOC101	Integrative Psychotherapy in Theory	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU102	Integrative Psychotherapy in Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU103	Models of Contemporary Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU104	Ethics in Counselling and Psychotherapy Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU105	Mental Health and Crisis Management	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
CSW101	Valuing Diversity	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU107	Case Conceptualisation	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
COU108	Supervised Practice A	0.125	6	\$3,944	\$1,403 x 3 (\$4,209)
SOC201	Life Span Development	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU202	Trauma Informed Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU203	Understanding Systems in Psychotherapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU204	Integrative Treatment Skills	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU205	Group Work Process	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU207	Treatment of Grief and Loss in Psychotherapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU208	Narrative, Identity and Integrative Processes	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU301	Psychodynamic Interpersonal Therapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOC312	Culturally Responsive Therapeutic Practice with Aboriginal and Torres Strait Islander Peoples	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU304	Experiential Processes in Psychotherapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU305	The Body in the Treatment of Trauma	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU306	Self and the Philosophy of Practice	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COU307	Supervised Practice B	0.250	12	\$7,288	\$2,593 x 3 (\$7,779)
Elective					
COUE301	Helping Young People	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOCE302	Dreamwork in Psychotherapy	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
COUE201	Embodied Psychotherapy (Dance)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Retreat/Intensive Subjects

These subjects comprise of some pre-work classes, a 3-5 day intensive of full day classes and a wrap-up class. The retreat or intensive format allows for a concentrated and total immersion in the learning material. Students will have the opportunity to think deeply and reflect widely on the concepts communicated, allowing for rich discoveries. Retreats are delivered offsite in locations designed to complement the learning objectives. Intensives are delivered on-campus (Melbourne or Sydney). Both are delivered during the traditional trimester break.

Please note that there are additional costs associated with these subjects for accommodation, food, and/or travel. If these are arranged by Ikon, they will be charged back to you. For the retreats, these costs are estimated at \$1,200 per student. Travel to the venues is not arranged by Ikon.

	Start Date	Census Date	End Date
Trimester 1	9 February 2026	2 March 2026	15 May 2026
Trimester 2	1 June 2026	22 June 2026	4 September 2026

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SOCE202	Sandplay and Symbol Work with Children and Adults (Intensive)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOCE203	Ecopsychotherapy (Retreat)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)
SOCE303	Eastern Practice and Western Psychology (Retreat)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Graduate Certificate in Counselling

Course Code	GCC	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	24
CRICOS Code	116566J	Delivery Mode	Online, On-Campus Intensives	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
COU501	Models of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU502	Foundations of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU503	Ethics, Diversity & Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU504	Human Development	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)

Graduate Diploma of Counselling and Psychotherapy

Course Code	GDCP	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	48
CRICOS Code	116565K	Delivery Mode	Online, On-Campus Intensives	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
COU501	Models of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU502	Foundations of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU503	Ethics, Diversity & Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU504	Human Development	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU505	Understanding Mental Health	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU506	Emotion, Affect and Self in Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU507	Unravelling the Concept of Mind	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU508	Process Experiential Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)

Master of Counselling and Psychotherapy

Course Code	MCP	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	96
CRICOS Code	116562B	Delivery Mode	Online, On-Campus Intensives	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
COU501	Models of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU502	Foundations of Therapeutic Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU503	Ethics, Diversity & Practice	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU504	Human Development	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU505	Understanding Mental Health	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU506	Emotion, Affect and Self in Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU507	Unravelling the Concept of Mind	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU508	Process Experiential Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU509	Neuroscience of Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU510	Navigating Healing in Complex Trauma	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU511	From Assessment to Treatment Design	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU512	Conversational Model of Psychotherapy	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU513	Bridging Mind, Body and Healing in Trauma	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU514	Working with Complex Presentations	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU515	Bringing Research to Life	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
COU516	Applied Professional Practice	0.125	6	\$4,445	\$1,582 x 3 (\$4,746)

Diploma of Community Services

Course Code	DCS	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	48
CRICOS Code	117330K	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
CSW101	Valuing Diversity	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW102	Foundations of Interpersonal Communication	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW103	Introduction to Community Services	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW104	Ethics and Professional Practice	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW105	Understanding Societies and Social Analysis	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW106	Principles and Practice of Case Management	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW107	Applied Interpersonal Skills 1	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW108	Program Planning and Coordination	0.125	6	\$2,781	\$990 x 3 (\$2,970)

Bachelor of Community Services

Course Code	BCS	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	144
CRICOS Code	117329C	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
CSW101	Valuing Diversity	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW102	Foundations of Interpersonal Communication	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW103	Introduction to Community Services	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW104	Ethics and Professional Practice	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW105	Understanding Societies and Social Analysis	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW106	Principles and Practice of Case Management	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW107	Applied Interpersonal Skills 1	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW108	Program Planning and Coordination	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW201	Applied Interpersonal Skills 2	0.125	6	\$2,781	\$990 x 3 (\$2,970)

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SWK202	Mental Health and Wellbeing	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW203	Lifespan Perspectives	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW204	Community Services Fieldwork 1	0.125	6	\$3,381	\$1,203 x 3 (\$3,609)
CSW205	Human Service Systems and Contemporary Service Delivery	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW206	Social Policy in Human Services	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW207	Working with Groups	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW208	Families and Children	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW301	Introduction to Management in Community Services	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW302	Working with Young People	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW303	Conflict Management	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW304	Connecting Cultures: Community Services and First Nations People	0.125	6	\$2,781	\$990 x 3 (\$2,970)
SWK305	Disability Advocacy and Accessibility	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW306	Recognising and Responding to Trauma	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW307	Community Development	0.125	6	\$2,781	\$990 x 3 (\$2,970)
CSW308	Community Services Fieldwork 2	0.125	6	\$3,381	\$1,203 x 3 (\$3,609)

Bachelor of Social Work

Course Code	BSW	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	192
CRICOS Code	118342J	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
Core					
SWK111	Social Work Purpose and Practice	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW101	Valuing Diversity	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW102	Foundations of Interpersonal Communication	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK112	Social Work Theories, Ethics and Fields of Practice	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW105	Understanding Societies and Social Analysis	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK113	Foundations for Social Work with Aboriginal and Torres Strait Islander Communities	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK114	Community Practice, Arts and Social Action	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK202	Mental Health and Wellbeing	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW203	Lifespan Perspectives	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK211	Engagement and Assessment Skills for Practice	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK212	Social Work in Legal Contexts	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW206	Social Policy in Human Services	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW207	Working with Groups	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK213	Professional and Reflective Skills for Field Practice	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK333	Field Education 1 (500 hours)	0.375	18	\$9,975	\$3,549 x 3 (\$10,647)
SWK305	Disability, Advocacy and Accessibility	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW306	Recognising and Responding to Trauma	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK311	Research and Evidence in Social Work	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK312	Children and Families: Assessment and Practice	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK411	Organisational Practice: Advocacy, Change and Anti-Oppressive Approaches	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK412	Social Work in Health Settings	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK413	Practice Project: Integrating Theory and Evidence	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK414	Decision-Making and Intervention Planning	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
SWK444	Field Education 2 (500 hours)	0.375	18	\$9,975	\$3,549 x 3 (\$10,647)

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
Elective					
CSW106	Principles and Practice of Case Management	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW108	Program Planning and Coordination	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW205	Human Service Systems and Contemporary Service Delivery	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW301	Introduction to Management in Community Services	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW302	Working with Young People	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
CSW303	Conflict Management	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
ART104	Qualities of Art Making and Arts Media	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
ART202	Expressive Modalities in Arts Therapy	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
ART301	Responding to Trauma with the Arts	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
ART304	Arts Therapy with Children	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
ARTE206	Arts Therapy for Grief and Loss	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)
COUE201	Embodied Psychotherapy (Dance)	0.125	6	\$3,125	\$1,112 x 3 (\$3,336)

Retreat/Intensive Subjects

These subjects comprise of some pre-work classes, a 3-5 day intensive of full day classes and a wrap-up class. The retreat or intensive format allows for a concentrated and total immersion in the learning material. Students will have the opportunity to think deeply and reflect widely on the concepts communicated, allowing for rich discoveries. Retreats are delivered offsite in locations designed to complement the learning objectives. Intensives are delivered on-campus (Melbourne or Sydney). Both are delivered during the traditional trimester break.

Please note that there are additional costs associated with these subjects for accommodation, food, and/or travel. If these are arranged by Ikon, they will be charged back to you. For the retreats, these costs are estimated at \$1,200 per student. Travel to the venues is not arranged by Ikon.

	Start Date	Census Date	End Date
Trimester 1	9 February 2026	2 March 2026	15 May 2026
Trimester 2	1 June 2026	22 June 2026	4 September 2026

Subject Code	Subject name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SOCE202	Sandplay and Symbol Work with Children and Adults (Intensive)	0.125	6	\$3,344	\$1,190 x 3 (\$3,570)

Master of Social Work (Qualifying)

Course Code	MSWQ	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	96
CRICOS Code	118344G	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
SWK601	Social Work Purpose, Values and Principles	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK602	Social Work, Community Practice, and First Nation Peoples	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK603	Engagement, Assessment and Relationship-Building Skills	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK604	Social Work and Health Care	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK605	Theories and Ethics in Social Work Practice	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK606	Field Practicum 1	0.375	18	\$11,382	\$4,050 x 3 (\$12,150)
SWK611	Policy and Law for Social Work Practice	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK612	Trauma and Mental Health	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK613	Working with Groups, Teams and Organisation	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK614	Decision-Making and Intervention Planning with Children and Families	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK615	Research Evidence for Social Work Practice	0.125	6	\$3,594	\$1,279 x 3 (\$3,837)
SWK616	Field Practicum 2	0.375	18	\$11,382	\$4,050 x 3 (\$12,150)

Diploma of Early Childhood Education

Course Code	DECE	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	96
CRICOS Code	102714F	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO101	Professional Practice	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR102	Exploring Play and Documentation	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EDEV103	Holistic Child Development	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO104	Diversity and Equity	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO105	Safety, Health and Wellbeing	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH106	Development, Assessment and Planning (3 to 6 years)	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH107	Exploring Creativity	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC917	Professional Experience 1	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO201	Theoretical Perspectives and Pedagogy	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EDEV202	Understanding and Supporting Exceptionality	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH203	Understanding and Guiding Behaviour	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO204	Working with Families and Communities	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH205	Sustainability Perspectives in the Early Years	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH206	Development, Assessment and Planning (0 to 3 years)	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR207	Curriculum Approaches and Teaching Strategies	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC908	Professional Experience 2 (0 to 3 years)	0.125	6	\$3,350	\$1,192 x 3 (\$3,576)

Bachelor of Early Childhood Education

Course Code	BECE	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	192
CRICOS Code	102713G	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO101	Professional Practice	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR102	Exploring Play and Documentation	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EDEV103	Holistic Child Development	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO104	Diversity and Equity	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO105	Safety, Health and Wellbeing	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH106	Development, Assessment and Planning (3 to 6 years)	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH107	Exploring Creativity	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC917	Professional Experience 1	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO201	Theoretical Perspectives and Pedagogy	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EDEV202	Understanding and Supporting Exceptionality	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH203	Understanding and Guiding Behaviour	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO204	Working with Families and Communities	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH205	Sustainability Perspectives in the Early Years	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH206	Development, Assessment and Planning (0 to 3 years)	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR207	Curriculum Approaches and Teaching Strategies	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC908	Professional Experience 2 (0 to 3 years)	0.125	6	\$3,350	\$1,192 x 3 (\$3,576)
ECUR301	Language and Literacy in the Early Years	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR302	Mathematics in the Early Years	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR303	Digital Technology and Media in the Early Years	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH304	Teaching Curriculum: Literacy and Numeracy	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH305	Teaching Curriculum: Science and Engineering	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH306	Teaching Curriculum: Music, Dance and Drama	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ETCH307	Teaching Curriculum: Art	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC909	Professional Experience 3 (3 to 5 years)	0.125	6	\$3,350	\$1,192 x 3 (\$3,576)
EPRO401	Inclusive Perspectives in Early Childhood Education	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ECUR402	Contemporary Curriculum in Early Childhood Education	0.125	6	\$2,750	\$979 x 3 (\$2,937)

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
ECUR403	Indigenous Perspectives in Early Childhood Education	0.125	6	\$2,750	\$979 x 3 (\$2,937)
EPRO404	Advocacy and Social Justice in Early Childhood Education	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ELDR405	Educational Leadership	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ELDR406	Leadership and Service Management	0.125	6	\$2,750	\$979 x 3 (\$2,937)
ELDR407	Researching in Early Childhood Education	0.125	6	\$2,750	\$979 x 3 (\$2,937)
PLAC910	Professional Experience 4 (Capstone)	0.125	6	\$3,350	\$1,192 x 3 (\$3,576)

Graduate Certificate in Education (Early Childhood)

Course Code	GECE	Campus Locations	Online	Credit Points	24
CRICOS Code	116570B	Delivery Mode	Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO581	Contemporary Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED582	Playful Pedagogies in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED583	Thinking, Creativity and Curriculum in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPRO584	Diverse Learning and Inclusive Education in Early Childhood Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)

Graduate Diploma of Education (Early Childhood)

Course Code	GDECE	Campus Locations	Online	Credit Points	48
CRICOS Code	116569F	Delivery Mode	Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO581	Contemporary Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED582	Playful Pedagogies in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED583	Thinking, Creativity and Curriculum in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPRO584	Diverse Learning and Inclusive Education in Early Childhood Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPRO585	Wellbeing, Trauma and Responsive Practices in Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED586	Sustainability, Kinship and Nature in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED587	Agentic Digital Citizenship in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPIR588	Research A: Introduction to Practitioner Research	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)

Master of Education (Early Childhood)

Course Code	MECE	Campus Locations	Online	Credit Points	72
CRICOS Code	116568G	Delivery Mode	Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO581	Contemporary Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED582	Playful Pedagogies in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED583	Thinking, Creativity and Curriculum in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPRO584	Diverse Learning and Inclusive Education in Early Childhood Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPRO585	Wellbeing, Trauma and Responsive Practices in Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED586	Sustainability, Kinship and Nature in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED587	Agentic Digital Citizenship in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPIR588	Research A: Introduction to Practitioner Research	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
ELDR589	Operational Management of Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPED590	Empathy, Place and Community Connections in Early Childhood Education	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
ELDR591	Leadership of Early Childhood Educational Contexts	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)
EPIR592	Research B: Practitioner Research Project	0.125	6	\$3,845	\$1,368 x 3 (\$4,104)

Master of Teaching (Early Childhood)

Course Code	MTEC	Campus Locations	Adelaide, Brisbane, Melbourne, Sydney, Online	Credit Points	96
CRICOS Code	117328D	Delivery Mode	On-Campus, Online	RPL Fee	\$250 per subject granted

Subject Code	Subject Name	EFTSL Value	Credit Points	Pay-by-Tri Tuition Fee	Pay-by-Month Tuition Fee
EPRO501	Early Childhood Education and Care in the Australian Context	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH502	Play, Teaching and the Planning Cycle	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
EDEV552	Dimensions of Young Children’s Development, Learning and Wellbeing	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH503	Creativity and Curriculum in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
EPRO506	Children within their Family and Community Contexts	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH507	Understanding and Guiding Young Children’s Behaviour	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
EPRO508	Theories, Pedagogies and Curriculum in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
EPRO509	Diverse and Exceptional Learners in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH510	Language and Literacy in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH511	Mathematics and Numeracy in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH512	Science, Engineering and Technologies in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ETCH513	Creative Arts in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
EPIR514	Practitioner Inquiry Research in Early Childhood	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
ELDR515	Leadership and Service Management	0.125	6	\$3,163	\$1,126 x 3 (\$3,377)
PLAC955	Professional Experience (Birth to 5 years)	0.125	6	\$3,763	\$1,339 x 3 (\$4,017)
PLAC956	Professional Experience (Capstone + Leadership)	0.125	6	\$3,763	\$1,339 x 3 (\$4,017)

Non-Tuition Fees

Non-tuition fees listed below may be charged by Ikon and are not refundable:

Enrolment Fee for international students	\$795
Ancillary charges, including credit card surcharges	1.75% surcharge on credit and debit card payments
Graduation fees	\$150
Retreat Subject (Fees cover accommodation and food only and will be invoiced once venue is confirmed.)	Estimated at \$1,200